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NAME...................................................................................ADM NO...................CLASS............

TERM 3 END-TERM EXAM 2011
MATHEMATICS FORM 2

INSTRUCTIONS:

1. Read the instructions carefully
2. Show all the steps in your calculation giving your answer at each stage in the spaces provided below each question
3. Answer all questions in the spaces provided below each question


SECTION A: ANSWER ALL QUESTIONS


1) Use logarithms tables to evaluate:							(4mks)

83.46 x 0.0054
     (1.56)2













2) Without using a calculator, evaluate							(3mks)

21/5 + 2/3 of 33/4 – 41/6
11/4 – 22/5 ÷ 11/3 + 33/4








3) The diameter of a rectangular garden measures 111/4 while its width measures 63/4M. Calculate the perimeter f the garden.							(3mks)






















4) a) Solve the inequalities 2x – 5 > -11 and 3x + 2x ≤ 13. giving the answer as a combined inequality.											(3mks)

















b) List the integral values of x, that satisfy the combined inequality in (a) above.	(1mk)


5) Factorize 2x2y2 – 5xy – 12								(3mks)














6) A customer paid Kshs.5,880 for a suit after she was allowed a discount of 2% on the selling price. If the discount had not been allowed, the shopkeeper would have made a profit of 20% on the sale of the suit. Calculate the price at which the shopkeepers bought the suit.	(3mks)


















7) a) Express 10500 in term of its prime factors.						(2mks)







b) Determine the smallest positive number P such that 10500P is a perfect cube.	(2mks)

8) Three police posts X, Y and Z are such that Y is 50km on a bearing of 0600 from X while Z is 70 km from Y on a bearing of 3000 from X.

a) Using a suitable scale, draw a diagram to represent the above situation.		(3mks)






















b) Determine the distance in km of Z from X.						(2mks)







9) A line L is perpendicular to the line y = 3x. If L passes through point (0, 4), find

a) The equation of L.									(3mks)









b) The point Q where L intersect the line y = 3x						(2mks)









10) In the figure below AB\\DC, ∟DAB = ∟DBC = 900, CD = 7cm and BC = 4cm. Calculate the length of AB correct to 4s.f.								(4mks)

























11) Find the value of x in									(3mks)

2(x - 3) x 8(x + 2) = 128






12) Factorize completely the expression.							(3mks)

75x2 – 27y2















13) Calculate the area of the shaded region below, given that AC is an arc of a circle centre B and AB=BC=14cm, CD = 8cm and angle ABD = 750.					(4mks)


























14) The cost of 7 shirts and 3 pairs of trousers is shs.2950 while that of 5 pairs of trousers and 3 shirts is less by shs.200. How much will Dan pay for 2 shirts and 2 pairs of trousers?	(3mks)




















15) In the figure below, angle θ is half the sum of other angles. Evaluate all the angles in the triangle.											(2mks)






















SECTION B: ANSWER ALL QUESTIONS

16) The figure below represents a frustrum of base radius 2cm and height 3.6cm. If the height of the cone from which it was cut was 6cm.












Calculate;

a) The radius of the top surface.								(4mks)













b) The volume of the frustrum								(6mks)













17) There were 240 exercise books to be given to form 2 west students. On that day, 34 students were absent for various reasons. If the books were then shared equally among the remaining members of the class, the number obtained by each student was equal to the total number of students in the class.

a) Leting X to represent the total number of students in the class, write an expression of the number of books each of the present student got.						(2mks)










b) Form an equation in X that gives the number of books obtained by each student.	(3mks) 















c) Solve the equation above hence give the total number of students in the class.	(5mks)












18) a) Show by shading the unwanted region the area represented by;
 	4y < x + 11
x ≥ 1
x + y ≤ 9
5y > 3x – 3
[image: ]
b) Calculate the area of the enclosed region in (a) above.					(2mks)










19) The figure below show two intersecting circles with centres O1 and O2 and radii 18cm and 12 cm respectively and a common chord AB which is 18cm long.
















a) Find the arc of segment O1 A P B							(4mks)
















b) Find the area of segment A Q B							(4mks)



















c) Find the common area between the two intersecting circles.				(2mks)









20) A steel metal bar has the shape of a regular hexagon of side 2cm and it is 20m long.

Calculate;

a) The cross-section area of the metal bar.						(4mks) 











b) The volume of the metal bar								(3mks)






















c) The mass in kilograms of the metal bar if 1m3 of steel has a mass of 7800kg.	(3mks)
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